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The government wants to increase income i.c. Y by Rs 1,000 crorc.

<br>

Explain the three policy options available with the government to achicve

<br>

this objective. Explain the significance of each of these options in terms

<br>

of their effectiveness and impact on government budget.

<br>

[b] Explain the concept of automatic stabiliser with suitablc example. (S]

<br>

[10]

<br>

Q.7 [a] Explain the determination of equilibrium interest rate using the

<br>

[7]

<br>

money demand-money supply framework.

<br>

b] Explain the crowding-out effect using suitable diagram. Explain how

<br>

the fiscal expansion can be accommodated using monetary policy. [8]

<br>
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SECTION A

<br>

contains3sections All:the. sections:are

<br>

Max, Marks : 75

<br>

2.All questions within each.section.are.to. be answered.ina

<br>

continuous.manner on the answer sheet.

<br>

3.Anternal hoice is givenin Section B and Section C.

<br>

Q.1Read the case study given below and answer the questions that

<br>

[151

<br>

follow:.

<br>

1

<br>

Le Sportif is a health and sports club located in Paris. The. club has

<br>

performed well over the last two years but now faces competition from

<br>

two clubs, Wellness and Glides, which have just opened. Wellness has

<br>

been particularly successful as it has housed several technologically

<br>

advanced sports and health equipment and has attracted a large number of

<br>

customers from Le Sportif. Meanwhile, Glides is the only club in the area

<br>

that is also offering swimming pool facility.

<br>

The management ofLe Sportifconducted some extensive market research

<br>

to find out more information about their customers. They interviewed a

<br>

few of the club's customers to find out their views on Le Sportif and gave

<br>

them a questionnaire to seek more precise information about the way the

<br>

customers used their club.

<br>

Le Sportifhas responded positively to its market research by adopting the

<br>

following strategies:

<br>



45

<br>

• Introducing a family membcrship scheme

<br>

• Introducing a range of family-bascd classcs to encouragc health

<br>

and fitness

<br>

•Opening a coffec shop

<br>

The management of Le Sportif believes that this new customer-oriented

<br>

approach, which targets health and fitness for the whole family, will give

<br>

the club a unique selling point and enable it to stand out from the

<br>

competition.

<br>

[a] What are some of the key questions which Le Sportif may have asked

<br>

from its customers during the survey?

<br>

b] Le Sportif is facing intense competition from new clubs in the market.

<br>

Do you think that the threat of ncw entry is high in the health and fitness

<br>

industry? Give rcasons inm support of your answer.

<br>

[a] Conduct a SWOT analysis ofLe Sportif.

<br>

[c] Analyse the intensity of buyer power and threat of substitutes in this

<br>

industry.

<br>

SECTION B

<br>

(3]

<br>

Attempt any two questions. Each qucstion carries 15 marks.

<br>

(3]

<br>

[3+3]

<br>

[3]

<br>

2

<br>

Q.2 Ja] "Low inflation may be associated with weaknesses in the

<br>

economy."Do you agree? Give reasonsin support ofyour answer.

<br>

b] Explain how is the business environment of a country impacted by the

<br>

proportion of people in different age groups, i.e. 0-14, 15-59 and 60 &

<br>

above?

<br>

[8]

<br>

[7]

<br>

Q.3 [a] "The Insolvency and Bankruptcy Code, 2016 ((BC) is a welcome

<br>

overhaul of the existing framework for resolving corporate and individual

<br>

insolvencies and bankruptcies." In the light of this statement, explain the

<br>

two stages of insolvency resolution as mentioned in the code. What are

<br>

some of the recent cases of bankruptcy which have been initiated under

<br>

this law?

<br>

[b] Briefly explain the key functions of the Competition Commission of

<br>

India.

<br>

[8]

<br>

Q.4 [al How does the natural environment impact the business operations

<br>

of an industry?

<br>

[b] What are the scope and objectives of monetary policy? Briefly explain

<br>

the monetary policy instruments used byy the central banks to control

<br>

money supply and interest rates.

<br>

[8]

<br>

SECTION C

<br>

Attempt any two questions. Each question carries 15 marks.

<br>

Q.5 [a] Explain the determination of savings function from consumption

<br>

function in a 2-sector model using a suitable diagram.

<br>

[b] Assume the following for the economy of a country:

<br>

Consumption function: C= 85 +0.5 Y4

<br>

Investment function: I= 85

<br>

Government spending:G= 60

<br>

Net taxes: T=- 40 + 0.25Y

<br>

Disposable income: Y=Y-T

<br>

Solve for equilibrium income. How much does the govermment collect in

<br>

net taxes when the cconomy is in equilibrium? What is the govermment's

<br>

budget deficit or surplus?

<br>

Q.6 [a] Consider the following three-sector model:

<br>

C=+0.6Yd, where Ya is the disposable income

<br>

G= G; I=Iand T=T

<br>

(5]

<br>

3

<br>

[10]

<br>



Q.6 (b) Explain Transportation Problem (TP) and various

<br>

method to find out initial feasible and optimal solution and

<br>

also find the initial feasible solution using Vogel

<br>

Approximation Method (VAM) for the following problem.

<br>

Origin

<br>

Total

<br>

d

<br>

19

<br>

70

<br>

Subject to

<br>

40

<br>

Maximize z - 3X-X

<br>

30

<br>

30

<br>

2X1 +X2 S2

<br>

X2<4,. -

<br>

X] +3X2>3

<br>

Destination

<br>

S0

<br>

40

<br>

4

<br>

Q.7 Solve the following LPP using simplex method

<br>

T0

<br>

60

<br>

20

<br>

14

<br>

Tolal

<br>

Si

<br>

T8

<br>

34

<br>
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<br>
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<br>

|Note: Answer any five question. Question no I iscompulsory.

<br>

Allquestions carry cqual marks.

<br>

TAssume suitable missing data, if any.

<br>

Simple calculator is allowed.

<br>

Define the following terms with examples(Any Five)

<br>

() Lorenz Curve

<br>

(i) Inter-Quartile Range (IQR)

<br>

(i) Duality and its Significance

<br>

BBA

<br>

(i) Feasible Solitibn,Basic Feasible Solution & Optimal

<br>

Solution

<br>

( Spearman Rank Correlation Co-efficient

<br>

(vi) Coefficient of Determination and Correlation

<br>

Q.2(a) A small plant manufactures two models of a product, say A

<br>

& B. Two resources R1 & R2, are required for the manufacturing

<br>

of units of this, product. One unit of A consumes 10 units of RI

<br>

and 15 units of R2.Similarly one unit of B consumes 12 units of

<br>

RI & 17 units of R2. Suppose further that the company has 800

<br>

units of R1 & 600 units of R2 available per week, and each unit of

<br>

A & B gives a profit of, Rs. 50 & Rs. 70 respectively. Formulate

<br>

this as a linear programming problem (LPP) and find the optimal

<br>

weekly production levels for these two models using graphical

<br>

method.

<br>

96

<br>



Lb

<br>

(b) The Following table gives the distribution ofthc monthly

<br>

income of 600 familics in a certain city:

<br>

Monthly

<br>

|Income(0

<br>

ORs)

<br>

No. of

<br>

familics

<br>

Below

<br>

75

<br>

60

<br>

|Age (in

<br>

ycars)

<br>

No. of

<br>

members

<br>

75

<br>

150

<br>

170

<br>

20-30

<br>

3

<br>

150- 225- 300

<br>

300

<br>

225

<br>

375

<br>

200

<br>

30-40

<br>

Draw a 'less than' & a 'more than' Ogive curve for the above data

<br>

and on the same graph depict and find the median income.

<br>

61

<br>

60 50

<br>

Q.3 (a)Theaverage daily wagc of all workers in a factory is Rs.444. if

<br>

theaverage daily wages paid to male and female workers are Rs 480

<br>

& Rs 360 respectively, find the percentage of male & female workers

<br>

employed by the factory.

<br>

(b)Calculate the standard deviation from thc following table and

<br>

also show that S.D is independent of change of origin:

<br>

375

<br>

450

<br>

40

<br>

132

<br>

50-60

<br>

40-50

<br>

153 140

<br>

60-70 70-80

<br>

150 &

<br>

above

<br>

20

<br>

51

<br>

I66 67 67 T68 T69 70 112

<br>

68 65 68T2 72 69 71

<br>

80-90

<br>

Q.4 (a) Calculate the coefficient of correlation for the following

<br>

heights (in inches) of fathers(X)& their sons(Y) and

<br>

comment on the result:

<br>

(b) Explain Schcduling && its rules, Also construct a Gantt

<br>

Chart for the following data and also obtain idle time for

<br>

-machinc A and B:

<br>

Machine

<br>

WOmen.

<br>

Age(X)

<br>

A

<br>

Blood

<br>

B

<br>

Pressure

<br>

56

<br>

147

<br>

Job timings data in number of days

<br>

5

<br>

7

<br>

Q.5(a) The following table gives the ages & blood pressure of 10

<br>

42

<br>

D

<br>

6

<br>

36 47 49 42

<br>

125| 118 128 145

<br>

c| 10

<br>

Job 3 Job 4

<br>

7

<br>

2

<br>

9

<br>

11

<br>

13

<br>

2

<br>

4

<br>

140 155 160

<br>

(i) Find the regression coefficients & correlation coefficient and

<br>

comment on the result.

<br>

(ii) Determine the least square regression equation ofY on X

<br>

(iii) Estimate the blood pressurc of women whose age is 45 years.

<br>

60

<br>

(b)Define Operations Research & Business Statistics, Also

<br>

explain their applications in business.

<br>

15

<br>

72

<br>

Q.6 (a) Formulate the following Assignment Problem (AP) as

<br>

LPP model and also find the optimal assignment of the problem:

<br>

13

<br>

Job 5

<br>

2

<br>

7

<br>

7

<br>

5

<br>

63

<br>

55

<br>

149 150

<br>
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Note : Q:1. is compulsory. Attempt any four out of the

<br>

remaining questions.

<br>

Q.1. Discuss tho legal implications involvcd in the following cases (any

<br>

five )

<br>

A.A draws a chcque in favour ofB, a minor. B endorses it in favour of

<br>

C, who in turn endorses it in favour of D. The chequc is dishonoured

<br>

by the bank. Discuss the rights of C and D.

<br>

B. Soda-water was supplied þy P to R in bottles. R. was injured by the

<br>

bursting ofone of the bottles. Can R claim damáges fromP?

<br>

C.X sells goods to Y Y paysthrough a cheque. Before Y could obtain

<br>

the delivery of goods, his chcque has been dishonoured by. the Bank.

<br>

X, therefore refuses to give delivery of the goods until paid. Is X's

<br>

action justified?

<br>

D.M, who is trying to sell an unsound horse, forges a veterinary

<br>

surgeon's cettificate stating that the horse is sound and pins it on the

<br>

stable door. S comes to examine the horse but the certificate goes

<br>

unnoticed by him, He buys the horse and later on finds that the horse

<br>

is unsound. He wants to avoid the agreement under the plea.that he

<br>

has been deffauded. Will he succeed?

<br>

E.X, an agent refused to haid over the account books ofY, the principal.

<br>

to the new agent appointed in his place unless the principal released

<br>

him from all the liabilities. The principal had to give a release deed as

<br>

demanded. Is this release deed binding upon the principal?

<br>

EX asks Y to beat Z and promises to indemnify Y against

<br>

consequence's. Y beats Z and is. fined 1000. Can Y claim 1000

<br>

from X?

<br>



G.X dolivorcd sOmc cattlo to Y for fccding gass in Y's farmhousc
<br>

ngainst somo payment. Willhout any ncgligcnco on Y's part, a cattlc is

<br>

stolcn. Y didnot informX or thc polico or make any cffort to rccover

<br>

tlho cnttlo bocnusc he thought it would bo usclcss to do so. Who is

<br>

linblo and wliy?

<br>

Q.2. (1)Bxplain the tern "consideration" and stato tho cxccptions to the

<br>

rulo"no considerntion, no contract".

<br>

(2)Dofinc ofler and ncccptancc. When communication of offer and

<br>

ncccptancc is deemed to be complete if made through post?

<br>

Q.3. (1) Define bailment and bricfly state the rights and duties of bailor

<br>

and bailcc.

<br>

(2) What nre the rights nnd obligatioris of a finder of goods?

<br>

Q.4. (1) Definc unpaid scller. What are his rights under the Sale of

<br>

Goods Act?

<br>

(2) "A scller canot convyey a better title to the buyer than he himself

<br>

has." Discuss this rule oflaw and point out the exceptions.

<br>

Q.5. Distinguish between the following

<br>

i)'Sale and Agreementto Sell

<br>

ii) Memorandum ofAssociation andArticles ofAssociation

<br>

ii) Coercion and Undue Influence

<br>

iv)Bills of exchange and Promissory Note

<br>

v) Bailment and Pledge

<br>

Q.6. (1) Define Company. What are the various types of companies as

<br>

per Companies Act 2013?

<br>

(2) What are the provisions with respect to the appointment of Directors

<br>

in Companies Act 2013?

<br>

Q.7. (1) Distinguish between a holder" and a "holder in due course",

<br>

Explain fully the privileges granted to a "holder in due course" under

<br>

Negotiable Instruments Act.

<br>

(2) What is an endorsement? Explain and illustrate the different kinds of

<br>

endorsement.

<br>
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Q.1[a]
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<br>

[c]
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<br>

[b]

<br>

100 --
<br>
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<br>

BBA
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Max. Marks: 75

<br>

(15 Marks)

<br>

Explain the purpose/Objective of giving a Presentation

<br>

highlighting he steps involved in planning a presentation?

<br>

Discuss the guidelines for writing the job application letter

<br>

in detail?

<br>

Enumerate the benefits the modern technology has to offer

<br>

and the issues involved with the use of technology faced

<br>

by global managers?

<br>

Explain the AIDA Principle in detail?

<br>

(15 Marks)

<br>

Discuss the features of a good report writing and the

<br>

common mistakes in report writing?

<br>

Discuss the process of Business conmunication and the

<br>

relevance of 7c's of communication in making it more

<br>

effective?

<br>



Q.3 [a] The office manager at a rcal estate firm makes a pot of coffee

<br>

X

<br>

SECTION B

<br>

Attempt any two questions. Each qucstion carries 15 marks.

<br>

every morning. The time before it runs out, Y, in hours depends on the

<br>

number of persons working on that day (X). Suppose that the data from

<br>

[5]

<br>

the last six days is:

<br>

Y

<br>

1

<br>

2

<br>

4

<br>

/02-)
<br>

3

<br>

[b] Prove the following results:

<br>

5

<br>

3

<br>

3

<br>

4

<br>

3

<br>

5

<br>

()Obtain the regression equation of Y on X and interpret your result.

<br>

(ii) Calculate the coefficient of determination for the regression and

<br>

interpret it.

<br>

[5]

<br>

(a) The product of the two regression coefficients(byx and bxy) is r.

<br>

(b)The mean value of the residuals û, is zero.

<br>

[c] For 50 students ofa class, the regression equation ofmarks in Statistics

<br>

(X) on the marks in Accountancy (Y) is 3Y - 5X + 180 = 0. The mean

<br>

marks in Accountancy is 44 and the variance of marks in Statistics is 9/16

<br>

of the variance of marks in Acountancy. Find the mean marks in

<br>

Statistics,and the coefficient of correlation between marks in the two

<br>

subjects.

<br>

Q.4 [a] Prove that under the assumptions of CLRM, the OLS estimator B,

<br>

is the best linear, unbiased and efficient (BLUE) estimator of B.

<br>

[10]

<br>

[b] From a sample of 20 firms, the following regression results are

<br>

obtained:

<br>



Standard error = (0.32)(0.035)

<br>

R2= 0.283

<br>

Where salary = salary of CEO

<br>

sales annual firm sales

<br>

IOe =F return on equity

<br>

salary = 4.32 +0.280sales + 0.0174 roe + 0.00024 ros

<br>

Ios
= return on firm's stock

<br>

(i)

<br>

(ii)

<br>

(iii)

<br>

I07-&
<br>

Compute:

<br>

Interpret the regression equation. [1]

<br>

Which of the coefficients are

<br>

significant at the 5% level? [2]

<br>

Q.5 [a]Consider the data given below:

<br>

(0.0041)

<br>

Test the overallsignificance of the regression 'at 5%o level. [2]

<br>

(0.00054)

<br>

x =12; )xzX3 =8; 2x
= 12; Xyx, = 10; 2y' =

<br>

10;xz = 8and n = 23

<br>

individually statistically

<br>

SECTION C

<br>

B2, B3,R, standard errors of B2,B and covariance B2,Ba).

<br>

[10]

<br>

[b]What is Adjusted R2? What are the key features of adjusted R2? [S]

<br>

5

<br>

Attempt any two questions. Each question carries 15 marks.

<br>

Q.6 a]What are the sources of multicollinearity in a regression model?

<br>

[2+3]

<br>

Explain any three ways to detect multicollinearity.

<br>

[b]Explain why theregression coefficients are indeterminate in the case

<br>

ofperfect multicollinearity.

<br>

[5]

<br>

[c] From the annual data for the US manufacturing sector for 1899-1922,

<br>

the following regression results were obtained:

<br>



Regression B

<br>

()

<br>

RegressionA

<br>

(ü)

<br>

(iii)

<br>

log Y = 2.81 0.53 log K + 0.91 log L

<br>

= (1.38) (0.34)

<br>

S.e.

<br>

R²=0.97

<br>

Where Y=real output, K= real capital input, L = real labour input

<br>

F=189.8

<br>

107-E

<br>

S.e.

<br>

log (Y7L) =-0.11+ 0.11 log(K/L)

<br>

= (0.03) (0.015)

<br>

R?= 0.65

<br>

F= 19.5

<br>

(0.14)

<br>

Is there multicollinearity in regression A? How do you know?

<br>

[2]

<br>

If there was multicollinearity in regression A, has that been

<br>

reduced by regression B? How do you know?

<br>

Are the R' values of the two regressions comparable? Why or

<br>

why not?

<br>

[c]Consider the following model:

<br>

Q.7 a] What are the reasons behind the presence ofheteroscedasticity in

<br>

a regression model? What are the consequences of estimating OLS

<br>

parameters in the presence ofheteroscedasticity?

<br>

[2]

<br>

Ct = B1+ BzGNP, + B3D + ue

<br>

[1]

<br>

[b] Explain using suitable example how Park Test can be used to detect

<br>

[5]

<br>

heteroscedasticity in a model.

<br>

6

<br>

[3+2]

<br>

Where C = aggregate private consumption expenditure in year t, GNP =

<br>

gross national product in year tand D, = national defence expenditure in

<br>

year t. It is suspected that the model suffers from the problem of

<br>



heteroscedasticity. Assuming that o = oGNP?, show how can the

<br>

model be transformed to make it homosccdastic.

<br>

Q.8 [a] What is autocorrelation? Explain how does model specification

<br>

error lead to the problem of autocorrelation.

<br>

[2+3]

<br>

[b] What are the consequences of OLS cstimation in the presence of

<br>

autocorrelation? Explain the graphical method of detecting

<br>

autocorelation in a regression model.

<br>

[3+2]

<br>

c] Use the Durbin-Watson d-test to check for the presence of

<br>

Autocorrelation in models A and B:

<br>

ModelA:

<br>

Model B:

<br>

Y = 0.4529 - 0.0041t

<br>

R²=0.5284

<br>

d =0.8252

<br>

n = 16

<br>

|5]

<br>

Y, = 0.4786 – 0.0127t +0.0005t2

<br>

R?=0.6629

<br>

d =1.82

<br>

n =16

<br>



TABLE D.2

<br>

Percentage Toints of

<br>

the t Distribution

<br>

Source: Frorm E. S. rearsnn and

<br>

H. 0. Hartley, cds., Biometika

<br>

Tables for Statisticians, vol. 1,

<br>

3ded., tahle 12. Cannbridye

<br>

University Press,New York.

<br>

1966. Reproduced by

<br>

permission of the editors and

<br>

trustees of Biometrika.

<br>

Example

<br>

Pr(t > 2.086) – 0.025

<br>

Pr(t > 1.725) 0.05

<br>

Pr(|t| > 1.725) - 0.10

<br>

10

<br>

11

<br>

2

<br>

16

<br>

17

<br>

18

<br>

19

<br>

20

<br>

21

<br>

22

<br>

23

<br>

24

<br>

25

<br>

26

<br>

27

<br>

3

<br>

28

<br>

2

<br>

29

<br>

30

<br>

40

<br>

60

<br>

Pr

<br>

120

<br>

for df 20

<br>

0.10

<br>

0.20

<br>

3.078

<br>

1.886

<br>

0.686

<br>

1.638

<br>

1.533

<br>

1,476 2.015

<br>

0.718 1440 1.943

<br>

1.415 1.895

<br>

0.7061.397 1.860

<br>

0.703 13831.833

<br>

1.325

<br>

0.686 1.323

<br>

0.69413501:771

<br>

1321

<br>

/07- -
<br>

1.345 1:761

<br>

0.691 1341 1.753

<br>

1337 1746

<br>

1333 1740

<br>

0.688 13301.734

<br>

1.319

<br>

1318

<br>

0.684 1.316

<br>

1328 T729

<br>

0.05

<br>

0.684 T314

<br>

0.10

<br>

6.314

<br>

2.920

<br>

2.353

<br>

1.303

<br>

2.132

<br>

1.296

<br>

1.372 1.812

<br>

1363 1:796 2.201

<br>

1.356 1:782 2:179

<br>

1.289

<br>

1.282

<br>

Note: The smaller probability shown at the h

<br>

1

<br>

1.725

<br>

1.315 1.706

<br>

1.721

<br>

1.717

<br>

1703

<br>

1.313 1.701

<br>

1.311 1.699

<br>

714:

<br>

1.310: 1.697

<br>

1:711

<br>

1.708

<br>

1.684

<br>

0.025

<br>

l.658

<br>

0.05

<br>

1.645

<br>

12.706

<br>

4.303

<br>

3.182

<br>

2.776

<br>

2.571

<br>

2.447

<br>

2.365

<br>

2.306

<br>

2.262

<br>

2.228

<br>

2.160

<br>

2145

<br>

2.131

<br>

2.120

<br>

2.110

<br>

2.101

<br>

2.093

<br>

2.086

<br>

2.080

<br>

2.074

<br>

2.069

<br>

2,064

<br>

2.060

<br>

2.056

<br>

2.052

<br>

2.045

<br>

2.042

<br>

1,671 2.000

<br>

2.021

<br>

1.980

<br>
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<br>

1.960

<br>

0.01

<br>

0.02

<br>

31.821

<br>

6.965

<br>

4.541

<br>

3.747:

<br>

3.365

<br>

3.143

<br>

2.998

<br>

2.896

<br>

2.821

<br>

2.764

<br>

2.718

<br>

2.681

<br>

2.650

<br>

2.624

<br>

2:602

<br>

2.583

<br>

2.567

<br>

2.552

<br>

2.539

<br>

2.528

<br>

2.508

<br>

2.048 2.467

<br>

2.500

<br>

2.492

<br>

2.485

<br>

2.479

<br>

2.473

<br>

2.462

<br>

2.457

<br>

2.423

<br>

2:390

<br>

2.358

<br>

1.725

<br>

2.326

<br>

0.05

<br>

0.005

<br>

0.010

<br>

63.657

<br>

9.925

<br>

5.841

<br>

4.604.

<br>

4.032

<br>

3.707

<br>

3.499

<br>

3.355

<br>

2.518 2.831

<br>

3.250

<br>

3.169

<br>

3.106

<br>

3.055

<br>

3.012

<br>

2.977

<br>

2.947

<br>

2.921

<br>

2.898

<br>

2.878

<br>

2.861

<br>

2.845

<br>

2.819

<br>

2.807

<br>

2.797

<br>

2.787

<br>

2.779

<br>

2.771

<br>

2.763

<br>

2.756

<br>

2.750

<br>

2.704

<br>

2.660

<br>

2.617

<br>

2.576

<br>

0.001

<br>

0.002

<br>

318.31

<br>

22.327

<br>

10.214

<br>

7173

<br>

S.893

<br>

S.208

<br>

4.785

<br>

4.501

<br>

4.297

<br>

4.144

<br>

4.025

<br>

3.930

<br>

3.852

<br>

3.787

<br>

3.733

<br>

3.686

<br>

3.646

<br>

3.610

<br>

3.579

<br>

3.552

<br>

3.527

<br>

3505

<br>

3.485

<br>

3.467

<br>

3.450

<br>

3.435

<br>

3.421

<br>

3.408

<br>

3.396

<br>

3.385

<br>

3.307

<br>

3.232

<br>

3.160

<br>

3.090

<br>
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<br>

TABLE D.3 Upper Percentnge Points of the F Distribution (Continued)

<br>

dffor

<br>

denom

<br>

nator

<br>

1

<br>

N2 Pr

<br>

12

<br>

13

<br>

J6

<br>

17

<br>

20

<br>

25

<br>

.10

<br>

.05

<br>

01

<br>

10

<br>

05

<br>

01

<br>

25

<br>

25 1.47

<br>

70

<br>

01

<br>

25

<br>

10

<br>

05

<br>

01

<br>

25

<br>

05

<br>

01

<br>

01

<br>

01

<br>

25

<br>

1

<br>

05

<br>

149

<br>

01

<br>

3.29

<br>

25

<br>

10.0

<br>

25

<br>

10

<br>

3.23

<br>

4.84

<br>

013

<br>

9.65

<br>

4.96 4.10 3.71

<br>

146

<br>

3.18

<br>

4.75

<br>

9.33

<br>

145

<br>

9.07

<br>

251 42

<br>

144

<br>

3.10

<br>

460

<br>

8:86

<br>

2

<br>

141

<br>

1.60

<br>

3.14 2.76

<br>

2.92

<br>

4.67 3.81

<br>

4.41

<br>

8.29

<br>

10 2,99

<br>

05 4.38

<br>

018.18

<br>

7.56

<br>

25 743 152

<br>

10 307 2:70

<br>

054S4 3.68

<br>

8.68 6.36

<br>

25142

<br>

103:05

<br>

141

<br>

1.58

<br>

2.86

<br>

.05 4.35

<br>

3.98

<br>

8.10

<br>

131

<br>

N0 3.03 2.64

<br>

05 445 359:

<br>

01 8.40 6.]1

<br>

6.93

<br>

1.55

<br>

7.21 6.22

<br>

10 3.01 2.62

<br>

1.561.56

<br>

3.89 3.49

<br>

2.73

<br>

6.51

<br>

3

<br>

1.60

<br>

2.73

<br>

6.55

<br>

1.58

<br>

1.50

<br>

2.66

<br>

6.70 5.74.

<br>

3.59

<br>

1$3 1.53

<br>

3.55

<br>

2.52

<br>

3.74 3.34

<br>

6.01

<br>

5.85

<br>

S.95

<br>

1.55

<br>

2.56

<br>

6.23 529

<br>

1.50

<br>

2.81 2.61 2:48 2.39

<br>

3.41

<br>

1.59

<br>

2,61

<br>

3.48

<br>

5.99

<br>

1.57

<br>

2.54

<br>

3.36

<br>

5.67

<br>

1.55

<br>

3.26

<br>

5.41

<br>

1.53

<br>

2.43

<br>

3.18

<br>

5.21:

<br>

2.39

<br>

3.11

<br>

5.56 5.04

<br>

749 1.49 1:47

<br>

2,61 2,40

<br>

3.52 3.13

<br>

5935,01

<br>

T40

<br>

1.49 1.48

<br>

2,59 2.38

<br>

2.97

<br>

4:77

<br>

149

<br>

152 151

<br>

2.492.36

<br>

3:29 3.06 2:90

<br>

542 4,89 456

<br>

151 1:51 1.50 1:48

<br>

2.67 2.46 2.33 2.24

<br>

4,49 3.633.24 3.01 2:85

<br>

8.53

<br>

2,44 2.31

<br>

3.20 2.96

<br>

df for numerator N

<br>

1.59

<br>

2,52

<br>

2,27

<br>

3.33

<br>

2.90

<br>

5.64

<br>

1.56

<br>

2.45

<br>

3.20

<br>

5.32

<br>

132151

<br>

1.54

<br>

3.11:

<br>

5.06

<br>

1.52

<br>

2.35

<br>

3.03

<br>

4.86

<br>

2:31

<br>

2.96

<br>

4.69

<br>

1,49

<br>

2.27

<br>

444

<br>

5.18 4.67 4.34

<br>

149148 146

<br>

2.42 2,29 2,20

<br>

3,16 2,93

<br>

5.09 4.58

<br>

147

<br>

2.22

<br>

2.81

<br>

2:77

<br>

4.25

<br>

1.46

<br>

2.18

<br>

I07- IE
<br>

2.74

<br>

4.50 4.17

<br>

1.57

<br>

2.41

<br>

3.14

<br>

5.20

<br>

1.54

<br>

2.34

<br>

3.01:

<br>

4.89

<br>

1.52

<br>

2.28

<br>

2.91

<br>

4.64

<br>

1.50

<br>

2.23

<br>

2.83

<br>

4.44

<br>

149

<br>

2.19.

<br>

2.76

<br>

,

<br>

2.16

<br>

2.71

<br>

4:324.14

<br>

147146

<br>

2.182.13

<br>

2.66

<br>

4.03

<br>

145

<br>

3.84

<br>

1:43

<br>

8

<br>

1.56

<br>

2.54

<br>

2.38

<br>

3.77

<br>

3,07

<br>

1,43

<br>

5,06

<br>

1.53

<br>

2.04

<br>

2.30

<br>

2.95

<br>

4:28 4.14

<br>

4.74

<br>

1.51

<br>

47: 1.46

<br>

2:24

<br>

2.85

<br>

4.50

<br>

1:49.

<br>

2.20

<br>

2.77

<br>

4.30

<br>

1.48

<br>

2:15

<br>

2:70

<br>

2.12

<br>

2.64

<br>

4.00

<br>

2.152.10

<br>

2.61 2.55

<br>

3.93 3.79

<br>

T45

<br>

2.09

<br>

2:59

<br>

3.89

<br>

14

<br>

2.06

<br>

2.06 2.02

<br>

2.48

<br>

146145

<br>

2.25 2.16

<br>

3.49:3.10 2.87 2.71

<br>

2.51 245

<br>

4.94.4,43 4.10 3.87 3,70.3.56

<br>

9

<br>

3.63

<br>

1.56

<br>

T42

<br>

2.35

<br>

3.02

<br>

4.94

<br>

1.53

<br>

2.27

<br>

2.90

<br>

4.63

<br>

1.51

<br>

2,21

<br>

2.80

<br>

4.39

<br>

1.49

<br>

2.16

<br>

2.71

<br>

2.65

<br>

4.03

<br>

146

<br>

371 3.60

<br>

1:42 141

<br>

10

<br>

2.49

<br>

3.68

<br>

1.55

<br>

1.55

<br>

2,32 2.30 2.28

<br>

2.98 2.94 2.91

<br>

4.77 4.71

<br>

4.85

<br>

1.52

<br>

419 4.10

<br>

147146

<br>

198

<br>

2.25

<br>

2.12 2.10

<br>

2.42

<br>

2.85

<br>

4.54

<br>

141

<br>

1.50

<br>

2.00 1.96

<br>

2.19

<br>

2:39

<br>

3.46

<br>

4.30

<br>

148

<br>

2.09 2.06

<br>

2.14

<br>

2.59 2:54

<br>

3.893.80

<br>

144

<br>

2.67

<br>

144

<br>

2.06 2.03

<br>

2.54 2.49

<br>

3.78 3.69

<br>

T431 43

<br>

2.75 2.72

<br>

2.60

<br>

2,03 2.00

<br>

2.45

<br>

3.94

<br>

1.45

<br>

3.51

<br>

1:41

<br>

1

<br>

1.96:

<br>

2.38

<br>

1.521.51;

<br>

2.23 2.21

<br>

2.82 2.79

<br>

446 4.40

<br>

1.50

<br>

3.37

<br>

2.17

<br>

4.22

<br>

147

<br>

2.12

<br>

2.63

<br>

4.02

<br>

146

<br>

2.08

<br>

2.57

<br>

3.86

<br>

1.44

<br>

3.43

<br>

3:52

<br>

2.04

<br>

2.51

<br>

3.73

<br>

144

<br>

3.59 3.52

<br>

142

<br>

198

<br>

2:41

<br>

1.441.43 142 142 141

<br>

2.08 2.04 2.001981.96: 1.93

<br>

258 2.51 2.46 2.41 2.37 2.34

<br>

3.43

<br>

12

<br>

1.54

<br>

140

<br>

1.94

<br>

2.34

<br>

3.36

<br>

1.39

<br>

2,35 2.31

<br>

T.49

<br>

2.15

<br>

3.29

<br>

2.69

<br>

4.16

<br>

1.47

<br>

2.01 1.99

<br>

2.46 2.42

<br>

3.62 3.55

<br>

2.10

<br>

2.60

<br>

3.96

<br>

145

<br>

2.05

<br>

2.53

<br>

3.80

<br>

L44

<br>

2.02

<br>

2.48

<br>

3.67

<br>

T43

<br>

141

<br>

196

<br>

2.38

<br>

140

<br>

1.92

<br>

1.94

<br>

3.46

<br>

140

<br>

3:37

<br>

140

<br>

191

<br>

2,31

<br>

3.30

<br>

1.39

<br>

1:89

<br>

2.28

<br>

3.23

<br>
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<br>

TABLED.5A

<br>

d

<br>

60.610 T400

<br>

Durbin-\Watson d Statistic: Sionifcance Points of d, and du at 0.,05 Levcl of Significance

<br>

d

<br>

70700 1.356 0467 1.806

<br>

d.

<br>

du

<br>

S 0.763 1.332 0359 1.777 0.368 2.2$7

<br>

do

<br>

0824 1.320 D.629 1.699 0.455 2.128 0.296 2.588

<br>

d

<br>

127ò

<br>

1.250

<br>

d

<br>

70 0.379 1.320 0.697 1,641 0525 2.016 0.376 2.414 0.243 2.822

<br>

/07

<br>

d

<br>

0. 203 3.005

<br>

d

<br>

do

<br>

R8

<br>

0927 1.324 0.658 1.604 o395 .28 0444 2.283 0.31& 2645

<br>

12.0971331 0.812 1.579 D.658 1.854 0.512 2.177 0.379. 2306 0.268 2.832 0.121 3.149

<br>

S1.001.340 0.86115620715 1.816 0$74 2.094 0.4 $ 2.390 0.328 2.692 0.2302.985

<br>

41.045 1350 0.9051.351 0.767

<br>

0 62 >030 0. su5 2.296 0.389 2.572 0.286 2.848

<br>

15 1.077 1361 o.946 1.543 0.814 0.68s 1.977 o562 2.220 0,447 2472 0.343 2.727 0.251 2.979 0.175 3.216 0.0

<br>

76 1.106 1.371 09B2 1.539 0.857 1.728 0.734

<br>

1.935 0.615 2.157 0.502 2.388 0.398 2.624 0.304 2.8600222 3.090 0.1553.304

<br>

17 1133 7.381 1.015 15360.897 1.710 0.779 1.900 0.664 2.104 0.554 2.318 0.451 2537 0.356 2.757 0272 2.975 0.1983.184

<br>

181.358 1.391 .046. 1.535 o.933 1.696 0.820 1.872 0.710 2060 0.603 2257 502 2461 0407, 2.667 0.321 2.873 0.244,3.073

<br>

19 1,1 80 1401 1.074 1.536 0.967 1.685 0.859 1.848: 0.752 2,023 0,649 2.206 0.549 2.396 0.456 2.5890.369 Z783 0290 2.974

<br>

20 1.201 1.411 1.100 537 o.998 1.676 o.894 1828 0.7921.991 0.692 2.162 0.59s 2.339 0s02 2.521 0416,2.704 0.3352.B85

<br>

211221 14201.125 13381026 1.669 0.9271.812 0.829 1.964 0.732 2.124 0.637 2290 0547 2.4600.461 2.633 0.3802806

<br>

22 1239 i429 1a47 1541 1.053 l.664 0.958 1797 0.863 1940 0.769 2.090 0.67) 2.246 0.58s 2407 0.504 2.571 0.424 2734

<br>

23 1.257 1437 1.16s 15431078 1.660 0.986 1.78s 0.895 1920 0.B04 2.061 0.71s 2.208 0.628 2.360 0545 25140,465 2.570

<br>

2412734461.185 1.546 1.101 1656 1.013 1775 0.92519020.837 20350751 2.174 0.666 2.318 05&4 2.464 0,5062613

<br>

251288 1454 206 1 350 1.i23 1.654 1.038 1.767 0.953. 1.886 o.868 2.o12 0.784 2144 0.702 2.280 0.671 2419 D.544 2560

<br>

26 1.302 1461 1224 75531143 1652 1.0621759 0.979 1.873 0.897 1.992 0.816 2.17 0.735 22460.657 2379 05812513

<br>

7 1316. 469 124015561,162 1.651 1.084 1.753 1.004, 1.861 0.925 1.974 0845 2.093. 0.767 2216 0.691 2.3420.6162470

<br>

28 1326 14761255 136011811.6501.1041.747 1.028 1850 0951 1.958 0.874 2.071 0.7982.188 0.723 23090.6502431

<br>

291.341483127015631.198 1.650T12417431050o1841 0.975 1944-0.900o2.0520.8262164. 0.753 2.278 0.6822.396

<br>

30 132i.489 1.284-1567.1214. 1.650 1:143 1.7391.071 1.8330.9981.931 0.926 2.034 0.854 2141 0.7822251 0.7122.363

<br>

3113534951297 1370 1229 1.6501,160 1,735 1,0901.82s 1.0201920 095o 2.0180.879, 2.1200.810 2.226 0.741 2333

<br>

32 1373 1502 1.309 1574 1.244 1.650 1177 1.7B2 1.1091819 1.041 1.909 0972 2.004 0.904 2.102 0.8362.203 0.769 2.306

<br>

331383 508 1.321 1577 12581.6511.193 1.730 11271.813 1.061 1.900 0.994 1.991 0.927,20850.861.2.1810.795 2.281

<br>

34 1393 13141.33315801.271 1,65281;2081.728i.144T8081.0BO 1.8911015 1979 0.950 2.069 0,885 2.T62 0.821 2.257

<br>

35402.13191343-1384 H283 1.6531.222 1.7261160 1,8031.0971.884T034 1.967 0.971 2.054 0.9082.144 0.845 2.236

<br>

36 1411 1525 1.354 1587 1.295 1654312361.7241A75J7991.1141.8771.0531.957 0.991 204109302127 0.863 2216

<br>

31 4419 1530364 1590 1307655 12491723 11901.79511311870 1.0711948 1.0112029 0.951 2.1120.8912.198

<br>

381427153537313941318 1.656 1.261 1.7221.20417921146. 18641.0881939 1.029 2.017 0.9702.098: 0.912 2.180

<br>

39143s 1540 1,382 1.597 1.3281.65812731.722 1.2181789 1161 1.859 1.1041932 1.047 2007 0.990 2.085 0932 2.164

<br>

40 1442 1.5441391 1.600 1.338 1659 1285 1721 1.230 1:786 1175 1.854. 1.120 1.9241.064 1997 1.008 2,072 0.952 2.149

<br>

4514751566430 16151.3831666 13361.720 12871:776 1.238 1.835 1189 1.8951139.1,958 1.089 2.022 1.0382.088

<br>

50 1303 1585 iA62 1.628 1.42116741.378 1.721 1335 1.77 1291 1822 1246 1.875 1.201 1.930 1.156 1.986 1110 2,044

<br>

551.528 1.6011490 1.641 1,4524681 1414 1724 1.341768 1.3341.814 1.294 1.861 1.253 1.909 1212 1959 1.170 2.010

<br>

6015491.6161514, 1652 14801,689 1444172714U8 1767 13721.808 1335 1.850 i298 1.894 1260 1.939 1.222 1.984

<br>

651567:1.62913361.662 1.503A696 1.471 1731 14381.76714041.805 1.370 1.8431336 1.882 1.301 1.923 12661964

<br>

70 1.583 1.641 1.S5416721525 1.703,1.4941735 1,464 1:768 14331.802 1401 1.837 1.369 1.873 1.337,1.910 1305 1948

<br>

7515981.652:1571 16801543 1.709: 1315 17391487. 17701i458 1.8011.428 1834:I3991.867. 1.369 1.901 1339 1:935

<br>

801611.1,662 158616883560 1,715 1,534 1,7431.507 1.772 14801.801 14s3 1.831 1425 1.8611.397 1.8931.369 1.925

<br>

8516241.67116001696 1.5751.721.1550 17471525 1.774: 13001.801 1474: 1.829 1448 1857 1.422 1.886 1.3961916

<br>

901.635 1.679 1.612 1.7031.589 1726 1566 1,751: 1342 1.776: 1,518 1.801 1494 1.827 1469 1.8541445 1.8811A201.909.

<br>

95164516871.6231709 1.602.. 1.732.1,579.1.7551.557 1.778 1.535 1.802 1512 1.82714891.852 1.465 1.8771442 1903

<br>

A00 1.654 1694 1634 12151.613 1.7361.592 1.7581571 178015501.8031528 1.8261.5061.8501,484.1.8741.462 1.898

<br>

15017201.746:1.706 AJ60 1.693 1.7741679 1.788.1.665 1.8021.6511.817 1.6371.832 1.6221,847 1,608 1.862 1594 1.877

<br>

200 1J5813781.7481789 1,7381,7991,7281.810 1.7181.820 1.7071.831 1.6971.841 1686 1.8$2 1.675 1.863 l.665 1.874

<br>

K9

<br>

0.147 3266

<br>

di

<br>

0.200, 3.111 0.12? 3.560

<br>
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PRODUCTION AND OPERATIONS MANAGEMENT

<br>

PAPER CODE GE-003

<br>

Note: Answer any five quesfions, question no one is compulsory.

<br>

Allquestions carry equal marks.

<br>

Assume suitable missing data, if any.

<br>

Use of simple calculator is allowed.

<br>

i)2-Card KANBAN

<br>

Q.1)Write the short note on the following-(Any Five)

<br>

(ii) Just in Time (JIT)

<br>

(iii) Flexible Manufacturing System (FMS)

<br>

(iv) Material Resource Planning (MRP)

<br>

(v) Mean Absolute Deviation (MAD)

<br>

(vi) Product & Process Design Matrix

<br>

(vi) Decision tree Analysis for capacity planning

<br>

BBA

<br>

Max. Marks : 75

<br>

109-k

<br>

Q.2( (a) What does the term operations strategy mean and also explain

<br>

operations strategy adopted by air Deccan airlines to became India's First

<br>

low cost airlines.

<br>

Page 1 of 3

<br>

(b) Explain Aggregate Production Planning (APP) and its need in

<br>

organizations, also explain' how we can find out Aggregate Production

<br>

using Linear Programming Problem (LPP).

<br>

Q.3 (a) What do you understand by the term operations & production

<br>

management. What are the major operations issues that manufacturing

<br>

organisations face in India.

<br>
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<br>

(b) Explain Lean Managemcnt and how lcan management helps the

<br>

organisation to minimise thcir wastc.

<br>

Q.4)(a) Explain qucuing systcm and obtain stcady state solution forM/M/1

<br>

model. And solve the following problcm:

<br>

TV repairman finds that the time spent on his jobs has an exponential

<br>

distribution with mean 30 minutes. If he repairs sets in the order in which

<br>

they come in, and if the arrival of sets is approximately Poisson with an

<br>

average rate of 10 per 8-hour day, what is repairman's expected idle timne

<br>

each day? How many jobs are ahcad of the average set just brought in?

<br>

(b) Explain Scheduling and its importance in industry also explain various

<br>

rules forscheduling.

<br>

Q.5) (a) Explain forecast and forecasting in detail and also explain various

<br>

components of time series.

<br>

(b) Below are given the figures of production (in thousands units) of air

<br>

conditioner manufacturing factory:

<br>

|Year

<br>

|1990 19911992 -1993 1994 1995 1996 1997 1998

<br>

| Production 17

<br>

19 26 24 40 35 55 S1

<br>

20

<br>

19992000

<br>

79

<br>

74

<br>

1. Fitthe second degree parabolic trend curve to the above data.

<br>

2. Obtain and eliminate the trend values.

<br>
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<br>

Q.6)(a) Describe Statistical Quality Control (S.Q.C). Discuss the various

<br>

criterion for detecting lack of control in mean and range chart. Also discuss

<br>

cause of variation in quality.

<br>

(b) Construct the mean and range chart from the follovwing datu and

<br>

comment on the chart:

<br>

given for n=5, A-0.58, D,-0, D-2.11)

<br>

Sample No. : 1 2

<br>

Sample Range : 45 48 62

<br>

Sample Mean : 69 63 S7 64 S7 32 85

<br>

33 46 112 93 95

<br>

Q.7 (a) What is the role of maintenance in a manufacturing system? Also

<br>

explain Equipment Life Cycle.

<br>

3

<br>

4

<br>

48

<br>

36

<br>

help of suitable example.

<br>

6

<br>

81

<br>

7

<br>

78

<br>

8

<br>
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<br>

42

<br>

9

<br>

69

<br>

10

<br>

11 12

<br>

(b) Why organizations need to carry inventory? also explain ABC

<br>

Classification scheme for selective control of inventories with the

<br>

34 48 75

<br>


